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Answer FOUR questions, THREE from Section A and ONE from Section B.
Section B starts on page 12.
SECTION A
Answer THREE questions from this Section.

Explain the main reasons why people voted to leave the European Union in 2016.

(Total for Question 1 = 15 marks)

Why is the concept of a European Social Model controversial?

(Total for Question 2 = 15 marks)

Explain the role and significance of the President of the European Commission.

(Total for Question 3 = 15 marks)

Why have some UK nationalist parties adopted a pro-European stance?

(Total for Question 4 =15 marks)

Explain how future EU expansion can be justified.

(Total for Question 5 = 15 marks)

TOTAL FOR SECTION A =45 MARKS
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Chosen question number: Question1 [ Question2 [] Question3 []
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You should start the answer to your second question choice on page 6
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Indicate your second question choice on this page.
You will be asked to indicate your third question choice on page 9.

Put a cross in the box X indicating the second question that you have chosen. If you change your
mind, put a line through the box ¢ and then indicate your new question with a cross X.

== | Chosen question number:  Question1 [] Question2 [] Question3 []

— Question4 [] Question5 []

You should start the answer to your third question choice on page 9
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(Total for Question = 15 marks)
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Put a cross in the box X indicating the third question that you have chosen. If you change your
mind, put a line through the box 2 and then indicate your new question with a cross X.
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You should start the answer to Section B on page 13
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SECTION B
Answer ONE question from this Section.

‘Unsuccessful and unreformable! Discuss this view of the Common Agricultural Policy.

(Total for Question 6 = 45 marks)

To what extent is further EU integration still a desirable objective?

(Total for Question 7 = 45 marks)

‘The Lisbon Treaty reforms have not made a significant difference in practice to the
EU institutions. Discuss.

(Total for Question 8 = 45 marks)
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Indicate which question you are answering by marking a cross in the box X. If you change your
mind, put a line through the box £< and then indicate your new question with a cross [X.
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(Total for Question = 45 marks)

TOTAL FOR SECTION B =45 MARKS
TOTAL FOR PAPER =90 MARKS
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